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Sr. No. Section –A(MCQBased) Marks 

 fn, x, fodYiksa ls lgh mrj nsaA Marks as per 

Point 

20 

1 ¼d½ leqnzh tgkt   (A) Sheep 1 vad  

2  ¼x½ ejkBh        (C) Marathi 1 vad  

3 ¼d½ nknk HkkbZ ukjksth (A) Dada Bhai Naroaji 1 vad  

4  ¼d½  jes”k pUnz nÙk   (A) Ramesh Chander Dutt 1 vad  

5  ¼d½ _Xosn   (A)  Rigveda 1 vad  

6  ¼[k½ flU/k   (B) Sindh  1 vad  

7  ¼[k½  vfr i”kqpkj.k   (B) Overgrazing 1 vad  

8  ¼[k½ lhesaV m|ksx   (B) Cement Industry 1 vad  

9  ¼d½ twV (A) Jute 1 vad  

10  ¼[k½ 59 izfr”kr  (B) 59% 1 vad  

11  ¼d½ flagyh    (A) Sinhala 1 vad  

12  ¼d½ iqfyl  (A) Police 1 vad  

13 ¼[k½ 1992    (B) 1992 1 vad  

 

14 ¼[k½ fir` iz/kku   (B) Patriarch 1 vad  

15 ¼[k½ 79-8 izfr”kr  (B) 79.8% 1 vad  

16 ¼x½ 1982  (C) 1982 1 vad  

17 ¼?k½ 130 oka     (D) 130th  1 vad  

18 ¼d½ e/kqeD[kh ikyd  (A) Bee keeper   1 vad  

19 ¼x½ lkgqdkj  (C) Money lender 1 vad  

20 ¼x½ mnkjhdj.k  (C) Liberalization 1 vad  



 

Section – B                                 M. M = 2 x 6 = 12 

21- yksFky] eksgutknMksA  Lothal , Mohenjodaro     1 + 1  = 2 vad 

22- 1000 bZ0 iw0 esa bVyh VkbZcj unh ds fdukjs lkr igkfM+;ksa ij clk FkkA In 

1000 BC, Italy was settled on seven hills along the banks of the Tiber River.  

          1 + 1  = 2 vad 

23- dikl] pkoy] cktjk] TokjA Cotton, rice, millet, sorghum 1 + 1  = 2vad 

24- 1- bLikr ds fofuekZ.k esa mi;ksxA 2- Cyhafpax ikmMj vkSj dhVuk”kd nokvka esa 

iz;ksxA i. Use in manufacturing of steel. ii. Use of bleaching powder and 

pesticides under pressure.       1 + 1  = 2vad 

25- i;kZoj.k dks uqdlku igqpk,a fcuk fd;k tkus okys fodkl dks Fkkj.kh; fodkl 

dgrs gSA 

 Developmnt done without harming the environments called sustaibalbe 

development.        1 + 1  = 2vad 

26- dsUnz Lrj ij feyus okyh ljdkj dks ,dkRed ljdkj dgrs gSA  

The Government that meets at the central level it is called a unitary government. 

1 + 1  = 2 vad  

Section C     4 x 2 = 8 

27- 1- 1948 2- ,slk leqnk; tks la[;k esa vf/kd gksA  3- 1956  4- rfey    

i. 1948  ii. A community that is greate in numbers  iii. 1956 iv. Tamil  

         1 + 1 + 1 + 1  = 4vad 

28- 1- vukSipkfjd  2- C;kt vf/kd yxrk gS   3- mls cSad ls _.k ysuk pkfg, 

4- cSad] lgdkjh lehfr;k¡   

i. Informal   ii.  Interest seems Higher     iii. He should take a loan iv. Bank and 

co-operative societies.       1 + 1 + 1 + 1  = 4vad 

Section D     3 x 5 = 15 

29- blkb;r o bLyke ds Vdjko dks ØwlsM dgk tkrk gSA 1- cgqr lkjs yksx ekjs 

x;sA 2- Hkkjr ls vlhe /ku lEink ywVdj ys x;kA 3- Hkkjrh; laLd`fr dks 



u’V dj fn;kA The conflict between Christianity and Islam is called crusade i. A 

lot of people died. ii. Looted immense wealth from India. iii. Destroyed Indian 

culture.           1 + 1 + 1  = 3vad 

30- 1- O;kikj esa rsth vkbZ gSA  2- ,d LFkku ls nwljs LFkku rd igqpuk vklku gks 

x;k  3- rduhd dks c<+kok feyk gSA  

i. Business gained momentum  ii. It became easier to research from one place to 

another.  iii. Technology get a boast.    1 + 1 + 1  = 3vad 

31- 1- O;kikj esa rsth vkbZ gSA  2- ,d LFkku ls nwljs LFkku rd igqpuk vklku gks 

x;k  3- rduhd dks c<+kok feyk gSA  

i. Business gained momentum  ii. It became easier to research from one place to 

another.  iii. Technology get a boast.    1 + 1 + 1  = 3vad 

32- 1- dikl vf/kd gksrh gSA  2- lLrs o dq”ky Jfed vklkuh ls fey tkrs gSA  

3- O;kikfjd n`f’V ls mi;qDr gSA  

i. Cotton is more  ii. Cheap skilled labour is easily available  iii. Suitable from 

business point of view.       1 + 1 + 1  = 3vad 

33- 1- iwjs csfYt;e esa Mp 59 izfr”kr gSA 2- Ýkalhlh 40 izfr”kr gSA 3- jkt/kkuh 

cqlsYl esa Ýkalhlh 80 izfr”kr o Mp 20 izfr”kr gSA   i. In all of Belgium 

Dutch 59%. ii. French is 40%  iii.  The capital Brussels is French 80% and Dutch 

20%          1 + 1 + 1  = 3vad 

Section E     5 x 4 = 20 

34- 1- ukyank] r{kf”kyk] foØef”kyk izeq[k f”k{kk dsUnz FksA 2- cf[r;kj f[kyth us 

ukyank dks tyk;k FkkA 3- Qkjlh o vjch Hkk’kkvksa dks izksRlkgu fn;kA 4- HkfDr 

larksa dh e/; Hkwfedk FkhA 5- laxhr] f”kdkj o dq”rh izpyu esa FkkA  

 i. Nalanda, Takshalshila, Vikramshila were major educational centers. ii. 

Bakhtiyar Khilji had burnt Nalanda. iii. Arabic languages got encouragement in 

perst on. iv. Bhakti saints played an important role. v. Music, hunting and 

wrestling wer in vogul.   

vFkok 



 1- lkearokn dk vUr “kq: gks x;kA 2- jk’Vªh; jkT;ksa dh LFkkiuk dk ekxZ 

iz”kLr gqvkA 3- iksi dh “kfDr esa o`f)A 4- ppZ lq/kkj vkUnksyu pysA 

 i. The end of feudalisam begin. ii. The path was paved for the establishment of 

national states.  iii. The power of the pope increased.  iv. Church regorm 

movement started.          2 + 3 = 5vad 

35- 1- ouksa dk dkVukA 2- vf/kd flpkbZ 3- i”kq pkj.k  4- vf/kd moZjd iz;ksx  

5- [kuuA   

 i. Deforestation.   ii. More irrigation  iii. Animal Grazing iv. More Fertilizer use.  

v. Mining.              2 + 3 = 5vad 

vFkok 

 1- vksfMlk & >kj[kaM isVhA 2- nqxZ cLrj pUnziqj isVhA  3- cYykfj fp=nqxZ 

fpDdexyw: isVhA 4- egkjk’Vª & xksok isVhA i. Orisa-Jharkhand Belt.  ii. 

Burga-Bastar-Chandrupar Belt.  iii. Bellary – Chitradurga-Chikkamangalam.  iv. 

Maharashtra – Goa Belt.   

36- 1- tkfr vk/kkfjr mEehnokj gksrs gSA 2- ljdkj esa tkfrxr ckrksa dk /;ku j[kk 

tkrk gSA  3- /keZ] tkfr ds vk/kkj ij oksV ekaxrs gSA 4- /keZ xq:vksa dk lgkjk 

ysrs gSaA i. There are caste based cpmfodates.  ii. Caste issues or taken care of in 

the government.  iii. They ask for votes on the basis of religion and caste.  

 iv. Take help from religious gurus.      2 + 3 = 5vad 

vFkok 

1- pquko yM+ukA 2- uhfr;k¡ o dk;ZØe cukukA 3- dkuwu cukus esa lgk;d 4- 

ljdkj cukuk 5- foi{k dh Hkwfedk fuHkkukA  

i. Contesting election.  ii. Making policies and programs iii. Helpful in making 

laws.   iv. Forming a government   v. Play the role of opposition.   

37- vkSipkfjd L=ksr %& 1- cSad rFkk lgdkjh lfefr;k¡A 2- RBI }kjk fuxjkuhA 3- 

de C;kt nj i. Banks and cooperative societies.  ii. Monitoring by RBI. iii. Low 

interest rates.   



vukSSipkfjd L=ksr %& 1- lkgwdkj] O;kikjh] ekfydA 2- fuxjkuh laLFkk ughaA 3- 

vf/kd C;kt  i. Money lender, Businessmen.  ii. Not a Monitoring organization.  

iii. More interest.             2 + 3 = 5vad 

vFkok 

  1- Hkkjr dh fo”o O;kikj esa o`f)A 2- iwathokn dks c<+kokA 3- vf/kd jkstxkj 

o`f)  4- dq”ky Jfedksa dh ekax o`f)A 5- O;kikj esa c<+ksrjh  

i. India’s growth in world trade.  ii. Promote capitalism.  iii. More employment 

growth  iv. Increase demand for skilled workers. v. Increase in business.  

  

38-            2 + 3  = 5vad 

 


